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GW-L-1

i i K & -F 5 (mm) Lz #+ nZy) |(MBRHE
YA - e 2 &
o  H B . B b b . ayP)-b i BRI R EIAR BER| q
{(n®) A | FiE (m*) {m®) (kN/n®)

S 0.15 0 940: 300: 400: 400( 1.208: 0.80i 3.22 2.42 1.14 58 12
2.00 R 0.15 0 940: 300 400 400) 1.208; 0.80 3.22: 2.42 0 538 12
S 0.20 0: 1040: 300: 300: 400f 1.281: 0.60 3.43: 2.56: 1.24 58 10
R 0.20 0; 1040 300 300 400{ 1.281 0.60; 3.43. 2.56 0 538 10
S 0.20 0: 1100: 300: 500 400f 1.750: 1.00. 4.04: 3.50 1.30 77 11
9.50 R 0.15 0: 1000: 300: 500! 400] 1.600: 1.00: 4.02: 3.20 0 93 0
S 0.25 0: 1250: 350 500 400[ 1.925 1.00 4.06! 3.85 1.45 73 11
R 0.25 0: 1200: 300 500! 400] 1.900: 1.00: 4.06; 3.30 0 31 5
S 0.20 0: 1200: 300 500: 400] 2.225 1.000 5.05: 4.45 1.40( 102 1
3.00 R 0.20 0 1200: 300; 500 400) 2.225 1.00 5.05; 4.45 0f 102 1
S 0.30 0: 1500: 350 500 400f 2.688: 1.000 5.11: 5.38 1.70 31 17
R 0.30 0: 1450: 300: 500! 400] 2.663: 1.00: 5.11: 5.33 0 33 12
S 0.20 0: 1380: 400 6G00: 400] 2.829: 1.200 5.86: 5.66: 1.58] 114 1
3.50 R 0.20 0: 1300: 300: 500! 400] 2.750: 1.00: B.06: 5.50 0 132 0
S 0.30 0: 1650: 350 500! 400] 3.375 1.000 B6.13;: B6.75 1.85/ 100 13
R 0.30 0: 1600: 300 500! 400] 3.350. 1.00: B6.13: B6.70 0f 108 7
S 0.25 0: 1700: 450 G00: 400] 3.825 1.200 6.890: 7.65 1.90[ 104 21
4.00 R 0.20 0: 1450: 350: 500! 400] 3.350: 1.00: 7.07: B.70 0f 150 0
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R 0.30 0: 1750: 300 500! 400] 4.113: 1.00: 7.15 8.23 0 129 1
S 0.25 0: 1800: 450: 700: 400] 4.585 1.400 7.72: 9.17 2.00( 130 11
4.50 R 0.25 0: 1750: 350: 500! 400] 4.475 1.00: 8.12: 8.95 0f 137 ]
S 0.30 0: 1970: 400: 600: 400] 5.024: 1.200 7.97: 10.05 2.17| 138 3
R 0.30 0: 1900: 300: 500! 400] 4.950. 1.00: 8.18: 9.90 0f 150 0
S 0.30 0: 2110 450 800; 400( 6.014: 1.60 3.53: 12.03: 2.31[ 128 29
5.00 R 0.25 01850 350 600 400 5.280 1.20: 3.94 10.58 0| 167 0
S 0.35 0: 2340: 400 600: 400| 6.552: 1.200 9.06: 13.10: 2.54/ 129 24
R 0.30 0i 2090: 400 700 400] 5.957: 1.40 8.79 11.91 0] 166 0
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owm & K OB B OE
Fu = N B =
BE K HE B B oM O B B B E
B4 {=hIAkiE
w0 Q=1/360-fr-A Q: it B (m3/sec) SLERE | M R R |8 | W R E [EHRK ha %
A A roax ab B R OOR E W t % r f ek it B
V=1/n*R (2/3)'1 (1/2) f: {ﬁ H ’f;?f‘: %C min mm/h mm/h m3/sec|
(w=v i) 50 hall F 10 50 2.50 125 0.6 0.2083
BE K i 3% 9t & Q=V-A Vit & (m/sec) 100hall F 20 50 1.75 83 0.6 0.1467
R:EHREm) 500 hall F 30 50 1.42 71 0.6 0.1183
[: 4 e (%)
it H & X U LG HC, HIFRIREEAS R L 72> TUD T2 | it AR ERF=0.6 %4 H
‘ Bt 7K Vit it ] HE 7K it X ] HEL]
i K1 £ K| EAKKOoFARXSS [N =|m M{dKkR&E i & EES 3 F=I I
s 1/360 X f K S R fisi =&
Eis mooORE (AR HU|E M| B M| R OB | fR £K| XrxA i JE B K K FEL| VR O | TR R =
Eza A r f B RN C QxR
ha % % %  mm/h m3/sec mm mm mm % m/sec|] m3/sec| C/B m3/sec
(1.2)
2.7km 2 0.14 100 125 0.6 0.0292| 7 U-300A 300 300 2.00] 2.1993 0.1520 5.21 0.0350
(1.2)
6.8km 3 1.26 100 125 0.6 0.2625|| #U-400A 400 400 2.00] 2.6613 0.3252 1.24 0.3150
(3.0) BERR BEAK 7%
8.9km 5 22.47 100 125 0.6 4.6813|| CPII-1.5 ¢ 1500 [ 24.90| 8.4885] 13.6563 2.92 14.0439
(3.0)
8.9km 5 22.47 100 125 0.6 4.6813|| CPII-1.75 ¢ 1750 | 24.90| 9.4379] 20.8710 4.46 14.0439 [Bgt D 2
(3.0)
8.9km 5 22.47 100 125 0.6 4.6813 BOX 1500 1000 9.00]12.5906| 14.8317 3.17 14.0439 [Bgt D 2
(3.0)
9.6km 6 73.95 100 88 0.6 10.8460] CPII-2.5 ¢ 2500 11.00] 8.0032] 36.7595 3.39 32.5380 kgt A
(3.0)
9.6km 6 73.95 100 88 0.6 10.8460 BOX 1800 1800 9.00]15.8831| 40.8196, 3.76 32.5380|fEtD A
(1.2) |#Eon
9.9km 7 4.46 100 125 0.6 0.9292|| AJfdaZE 1600 700 2.00] 3.4724 1.1657 1.25 1.1150
(3.00  [HEOR
9.9km 7 4.46 100 125 0.6 0.9292|| CP1-0.8 ¢ 800 [ 20.00f 7.0355 3.4453 3.71 2.7876
(3.00 [HEOH
9.9km 7 4.46 100 125 0.6 0.9292 BOX 700 700 9.00| 8.5116 3.2514 3.50 2.7876
(1.2)
10.8km 8-1 1.66 100 125 0.6 0.3458|| #%U-400B 400 500 2.00| 2.7874 0.4192 1.21 0.4150




’oom & oM B #H %

BE K ME % B oM 3t B H H E
MIE4 {=RIMGE
w A X Q=1/360+fr-A Q: ¥t & (m3/sec) SRR | OME RN R | 4% Mk | W RO E | WIIMRK ha % ¥
rogX BF MR R N TR t % % r f e ok i
V= 1/n°RA(2/3)°IA(1/2> f: ‘(llil: HZ'; 'f;?: iﬂ( min mm/h mm/h m3/sec
(==v 7 R) 50 hall F 10 50 2.50 125 0.6 0.2083
HE K BE 3% i & Q=V A Vit #E (m/sec) 100hall F 20 50 1.75 38 0.6 0.1467
R:EWAERE(M) 500 ha LL T 30 50 1.42 71 0.6 0.1183
[: %4 B (%)
7 B ES X BN TR, HIFRIREE DS AR L7 > TN 72 | it AR E=0.6%£%
ut 7K Vit I HE 7K e % R
H K1 £ K[ EKKOFHKS |H = H|dKEK= i3 & S w7 E .
% 1/360 X f BIKE o R fid £
& mooRE | AR H|E M| #E Hh) 9RO BE | 4R k| XrXA O JE K AEL| O OE | & =
=y 5 A r f B [T R C Orx s =
ha % % %| mm/h m3/sec mm mm mm % m/sec| m3/sec| C/B m3/sec
1.2)
10.9km 8-2 4.35 100 125 0.6 0.9063| “Afd A% 600 700 2.00| 3.4724 1.1657 1.29 1.0876
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iR 5 & (mm) #* #t (n%Y) |MBFEHE
e R d 2y Ll
Wow . A B . . B b b . - BIRRG®)  uREEAR B | 9 ¢
{(n®) i | EE (m®) {(m®) (kN/m®)
_______ h= b S+R1 0.30 0: 1180 300: 400: 400{ 1.496: 0.30: 3.27: 2.99: 1.38 42 30
h<C S+R1 0.30 0: 1180: 300: 400: 400/ 1.496: 0.80 3.27 2.99 1.38 42 30
_______ 52 S-R| 0.50 0/ 1600 400 400 400| 1.920 0.80 3.3 3.84  1.80] 35 34
5<C S+R1 0.50 0 1600 400 400 400] 1.920; 0.80: 3.39 3.84: 1.80 35 34
b= b S+R1 0.35 0: 1400: 300 500: 400f 2.2000 1.00: 4.12¢ 4.400 1.60 59 3l
5<C S+*R1 0.35 0: 1400: 300 500: 400f 2.2000 1.00: 4.12¢ 4.400 1.60 59 31
b= . S+*R1 0.50 0: 1950: 700: 300: 400f 2.963: 1.60: 3.60: 5.93 2.15 49 38
< S+*R1 0.50 0: 1850 700: 300: 400f 2.963: 1.60; 3.60: 5.93 2.15 49 38
bz b S+*R1 0.40 0: 1700 300: 500: 400f 3.100: 1.00: 5.19 6.200 1.90 66 383
h<C S+*R| 0.40 0: 1700: 300: 500: 400f 3.100: 1.00: 5.19 6.20: 1.90 66 383
b= S+R
¢
5<C S+R
________ D= | b S+R| D.45 D: 2050: 300: 500: 400f 4.2500 1.00: 6.29: 8.50: 2.25 70 48
h<C S+R| D0.45 0: 2050: 300: 500: 400f 4.250i 1.00: 6.29: B.50: 2.25 70 48
h= S+R
.......................... o
h<C S+R
h= b S+R| 0.45 0: 2230: 300 600 400{ 5.299: 1.20 7.13: 10.60: 2.43 39 47
h<C S+R| 0.45 0: 2230: 300: 600: 400f 5.299: 1.200 7.13: 10.60: 2.43 39 47
........ 9z ., SR
5<C S+R
5= b S+R1 0.45 0: 2460 350: 700: 400{ 6.491: 1.400 7.97 12.98 2.66( 102 49
5<C S+R| 0.45 0: 2460 350: 700: 400( 6.491: 1.400 7.97 12.98 2.66( 102 49
b= S+R
¢
< S+R
b= b S+*R| 0.45 0D: 2680 400: 300: 400f 7.801: 1.60 8.81: 15.60: 2.889( 115 51
h<C S+*R| 0.45 0: 2740: 450: 300: 400f 7.841: 1.60: 8.81: 15.68 2.94( 111 54
bz S+R
¢
h<{ S+R
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& 7 m 0.61

&5 4 AR e T 1.00 X 1.05X4+0.70 X 0.90 X4 = n 6.72 0.70<0.70 X 0.90
& 7 ot 6.72

iR A AR Hiver  [1.10X1.10X0.15 = m 0.18 0.70<0.70 X 0.90
& 7 m 0.18
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BEQFHEFTRIaL(13)t=4cm = 3.50x77.0 = 269. 5m2
75w v—5 2 (RC-40)t=20cm = 3.50x77.0 = 269. bm2
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)
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TEBET . 295 v ¥y—F > (RC-40)

e D
g H
—~Wn
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£ ZEMmE (1/2)
Z 2 RLEHEMEER HBEKEERE
£ | CRAMEXEFEIEISE .
Al
wm R 1:100 '_,_]_3 325
St T G’EEE%E - ?§R235)
HEES (B.P. ~25[X )

PRYEST

- 0m3 BE B)

. bm3
25.0 = 400. Om3

GW-1. 5-1 (b-S) H=4.00m
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6.
2.

25.00m

1
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z RABHEER HEAKRGEE RES CRIMEE R . 9Kmith 55
Zi A 1_ ﬂll**JE(«EETEIE I$ :Ell “5“ 45
e 1:100 Y

(ﬁiﬂﬁ#% =35)

(25~E. P. =TTX ) S1= -
BA= 21.0

EEEI"JEHE'L%(E&EFH)O 60 x0.80~1.00 L=10. 00m
JL—FU0% Q8

gy U 0.60 x 0. 80 0.60x0.90 0.60x1.00
(0.60+0.60) x0.1 = 0.m3 L=4.00m L=4. 00m L=2. 00m
3.50 |
HH %5 5 1 (PRE)
0.5
_ SV ‘ B L=52. 00
. $1=0. |1 A 2 00% \50 m

'FJEE’&E’,%I : 97 Y /—‘v 7/(RC 40) t=20cm S
HERAE 1) —F A=1.10m2 _

1.10x0.60 = 0. 66m3 T
(3% L=52.00m)
o = 21.0x52.0 = 1092. Om3 KYEST = 1.7
HOHEST = (0.6+0.6) x0.1 =0. 1m3
EEH#EST = 1.7x52.0 =88. 4m3




25.00

CRIMEXREEIRTIE (HKEEFES 8-2 10. 9Kmihs)
aAVy)— MR
| ZiRtE L IAAEL | | AHEZIE+E )L
g47 .| GW-1.5-1 HEOEE (n) 4.00 | EE (m)
T—Fo5DEE (M) 0. 60
RIADEF (m2) 7.13
. avsy)—¢p 132.5 |m3
m -\
I 5.30 | X | 2500 |
. EaEEe 125.6 |m2
OEMATE. ERYEH 1.20 X 25.00
QKL E 3. 40 X 25.00
QumE
. BRERR 93.3 Im2
SR ARTE | 3.73 | X | 25.00 |
. EBER 9.1 |m3
m -\
0.15% | 2.43 | X | 25.00 |
. BT 75 Im
DHEEERTE 1 X 25.00
QUEEE LS HE 2 X 25.00

132. 50

30. 00

85. 00

10. 60

93.25

9. 11

1IN
oo

125. 60 |

75.0




6. Bi#t 10.6 |m2

BT
I 2] X 53 | = 10.6 |
7. K& | 34.0 |8
@avsy—+r 0.0758/m3 0.075 X 132.5 = 9.9
@%# 0.100H/m2 0. 100 X 218.9 = 21.9 33.9 |
®K#E 0.0148/m3 0.014 X 152.5 = 2.1




Bt K T(EHAEMANEE) & Br 5l &
Fii ¥A H H A BRAE (RERT ) (=
T AR 600 X 600 X 600 X T—F T o i Fer e a7 —k %}ﬁ% T R P FAIE R
ZS
) J= 800 900 1000 L=1.0m 0.16nd/m|0.09m/m| 0.161m/m[0.214n?/m[0.135nt/m|0.214 nf/m|=1>-27V-10.30 nd /m| 247 m
60074
45 4.0 4.0 2.0 2 0.90 1. 35 0.66 3.00 0.14 10.0
m m m m m m m m m m m m n n
2 6007245 0.90 1.35
4.0 4.0 2.0 = = 0.90 & = 1.35 0.66 3.00 0.14
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owm & K OB B OE
Fu = N B =
BE K HE B B oM O B B B E
B4 {=hIAkiE
w0 Q=1/360-fr-A Q: it B (m3/sec) SLERE | M R R |8 | W R E [EHRK ha %
A A roax ab B R OOR E W t % r f ek it B
V=1/n*R (2/3)'1 (1/2) f: {ﬁ H ’f;?f‘: %C min mm/h mm/h m3/sec|
(w=v i) 50 hall F 10 50 2.50 125 0.6 0.2083
BE K i 3% 9t & Q=V-A Vit & (m/sec) 100hall F 20 50 1.75 83 0.6 0.1467
R:EHREm) 500 hall F 30 50 1.42 71 0.6 0.1183
[: 4 e (%)
it H & X U LG HC, HIFRIREEAS R L 72> TUD T2 | it AR ERF=0.6 %4 H
‘ Bt 7K Vit it ] HE 7K it X ] HEL]
i K1 £ K| EAKKOoFARXSS [N =|m M{dKkR&E i & EES 3 F=I I
s 1/360 X f K S R fisi =&
Eis mooORE (AR HU|E M| B M| R OB | fR £K| XrxA i JE B K K FEL| VR O | TR R =
Eza A r f B RN C QxR
ha % % %  mm/h m3/sec mm mm mm % m/sec|] m3/sec| C/B m3/sec
(1.2)
2.7km 2 0.14 100 125 0.6 0.0292| 7 U-300A 300 300 2.00] 2.1993 0.1520 5.21 0.0350
(1.2)
6.8km 3 1.26 100 125 0.6 0.2625|| #U-400A 400 400 2.00] 2.6613 0.3252 1.24 0.3150
(3.0) BERR BEAK 7%
8.9km 5 22.47 100 125 0.6 4.6813|| CPII-1.5 ¢ 1500 [ 24.90| 8.4885] 13.6563 2.92 14.0439
(3.0)
8.9km 5 22.47 100 125 0.6 4.6813|| CPII-1.75 ¢ 1750 | 24.90| 9.4379] 20.8710 4.46 14.0439 [Bgt D 2
(3.0)
8.9km 5 22.47 100 125 0.6 4.6813 BOX 1500 1000 9.00]12.5906| 14.8317 3.17 14.0439 [Bgt D 2
(3.0)
9.6km 6 73.95 100 88 0.6 10.8460] CPII-2.5 ¢ 2500 11.00] 8.0032] 36.7595 3.39 32.5380 kgt A
(3.0)
9.6km 6 73.95 100 88 0.6 10.8460 BOX 1800 1800 9.00]15.8831| 40.8196, 3.76 32.5380|fEtD A
(1.2) |#Eon
9.9km 7 4.46 100 125 0.6 0.9292|| AJfdaZE 1600 700 2.00] 3.4724 1.1657 1.25 1.1150
(3.00  [HEOR
9.9km 7 4.46 100 125 0.6 0.9292|| CP1-0.8 ¢ 800 [ 20.00f 7.0355 3.4453 3.71 2.7876
(3.00  |HEOH
9.9km 7 4.46 100 125 0.6 0.9292 BOX 700 700 9.00] 8.5116 3.2514 3.50 2.7876
(1.2)
10.8km 8-1 1.66 100 125 0.6 0.3458|| #%U-400B 400 500 2.00| 2.7874 0.4192 1.21 0.4150




’oom & oM B #H %

BE K ME % B oM 3t B H H E
MIE4 {=RIMGE
w A X Q=1/360+fr-A Q: ¥t & (m3/sec) SRR | OME RN R | 4% Mk | W RO E | WIIMRK ha % ¥
rogX BF MR R N TR t % % r f e ok i
V= 1/n°RA(2/3)°IA(1/2> f: ‘(llil: HZ'; 'f;?: iﬂ( min mm/h mm/h m3/sec
(==v 7 R) 50 hall F 10 50 2.50 125 0.6 0.2083
HE K BE 3% i & Q=V A Vit #E (m/sec) 100hall F 20 50 1.75 38 0.6 0.1467
R:EWAERE(M) 500 ha LL T 30 50 1.42 71 0.6 0.1183
[: %4 B (%)
7 B ES X BN TR, HIFRIREE DS AR L7 > TN 72 | it AR E=0.6%£%
ut 7K Vit I HE 7K e % R
H K1 £ K[ EKKOFHKS |H = H|dKEK= i3 & S w7 E .
% 1/360 X f BIKE o R fid £
& mooRE | AR H|E M| #E Hh) 9RO BE | 4R k| XrXA O JE K AEL| O OE | & =
=y 5 A r f B [T R C Orx s =
ha % % %| mm/h m3/sec mm mm mm % m/sec| m3/sec| C/B m3/sec
1.2)
10.9km 8-2 4.35 100 125 0.6 0.9063| “Afd A% 600 700 2.00| 3.4724 1.1657 1.29 1.0876
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S2202
テキスト ボックス
仁別林道8-1～11号　集水区域　1/100000
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iR 5 & (mm) #* #t (n%Y) |MBFEHE
e R d 2y Ll
Wow . A B . . B b b . - BIRRG®)  uREEAR B | 9 ¢
{(n®) i | EE (m®) {(m®) (kN/m®)
_______ h= b S+R1 0.30 0: 1180 300: 400: 400{ 1.496: 0.30: 3.27: 2.99: 1.38 42 30
h<C S+R1 0.30 0: 1180: 300: 400: 400/ 1.496: 0.80 3.27 2.99 1.38 42 30
_______ 52 S-R| 0.50 0/ 1600 400 400 400| 1.920 0.80 3.3 3.84  1.80] 35 34
5<C S+R1 0.50 0 1600 400 400 400] 1.920; 0.80: 3.39 3.84: 1.80 35 34
b= b S+R1 0.35 0: 1400: 300 500: 400f 2.2000 1.00: 4.12¢ 4.400 1.60 59 3l
5<C S+*R1 0.35 0: 1400: 300 500: 400f 2.2000 1.00: 4.12¢ 4.400 1.60 59 31
b= . S+*R1 0.50 0: 1950: 700: 300: 400f 2.963: 1.60: 3.60: 5.93 2.15 49 38
< S+*R1 0.50 0: 1850 700: 300: 400f 2.963: 1.60; 3.60: 5.93 2.15 49 38
bz b S+*R1 0.40 0: 1700 300: 500: 400f 3.100: 1.00: 5.19 6.200 1.90 66 383
h<C S+*R| 0.40 0: 1700: 300: 500: 400f 3.100: 1.00: 5.19 6.20: 1.90 66 383
b= S+R
¢
5<C S+R
________ D= | b S+R| D.45 D: 2050: 300: 500: 400f 4.2500 1.00: 6.29: 8.50: 2.25 70 48
h<C S+R| D0.45 0: 2050: 300: 500: 400f 4.250i 1.00: 6.29: B.50: 2.25 70 48
h= S+R
.......................... o
h<C S+R
h= b S+R| 0.45 0: 2230: 300 600 400{ 5.299: 1.20 7.13: 10.60: 2.43 39 47
h<C S+R| 0.45 0: 2230: 300: 600: 400f 5.299: 1.200 7.13: 10.60: 2.43 39 47
........ 9z ., SR
5<C S+R
5= b S+R1 0.45 0: 2460 350: 700: 400{ 6.491: 1.400 7.97 12.98 2.66( 102 49
5<C S+R| 0.45 0: 2460 350: 700: 400( 6.491: 1.400 7.97 12.98 2.66( 102 49
b= S+R
¢
< S+R
b= b S+*R| 0.45 0D: 2680 400: 300: 400f 7.801: 1.60 8.81: 15.60: 2.889( 115 51
h<C S+*R| 0.45 0: 2740: 450: 300: 400f 7.841: 1.60: 8.81: 15.68 2.94( 111 54
bz S+R
¢
h<{ S+R
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